| Efficiency vs Dxy |
.05
S S N N T N T T
]

] e S
o SO S S S S 1 I A
e £ IR L S S H
© Foo : P : P : :
0.03F it oo
0.025f il
002— ------- ] o S
|
e TR o
0005
.9J-.QEIIII:IIII:IIII:IIII:III!III:IIII:IIII:IIII:IIII
ISR
0:1_1_— -------------------------------------------------------------------
1:— -------------------------------- -4 ----------------------------------

_2B20-15-10 =50 5 10 15 20 25
TP dxy (cm)

—=— DQM_CKF_TTbase

| Efficiency vs Dz |

—— DQM_CKF_TT_retrainOIldFiles125 v2_prelimWP_epoch4

x0.05
© H H H H H
&045 ; - e .
o) : : : : :
P04 é | T A
O H H H H H
€035 E e P AR
o : : : :
0.03
0.025
0.02

0.015

0.01

0.005

0
15

Ratio

30 =2 i ) 10 20 30
TP dz (cm)



	Contents
	Page 1


